Question 1: (32 points) Circle the most correct answer in the following
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a) Converges absolutely
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2) One of the following is true
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8) The Binomial series of f(x) =
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9) The power series ) ,n—q N (x — 2)™ converges absolutely at
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12) The tangent line for the parametric curve whose parametric
equations are: x = t,y =+t att= 3 [s
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13) The length of the parametric curve: x = 2t, = \/E t,0<t<4is
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14) If the first four terms are used to approximate Y,,_4

the error satisfies :l’]i_j 'y IT—L%T + é‘ e _GL+
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15) For what values of x we can replace sinx by x —— + i So |
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16) The Taylor's polynomial of order 2 for f (x) = ln x ata=1is
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Question 2: Use series to evaluate the limit
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Question 3: Let

= (3% — 2)"
i
n=1
a) Find the interval of convergence
b) Find the series radius
¢) For what values of x does the series converges absolutely
d) For what values of x does the series converges conditionally
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Question 4: Find the Taylor series generated by f(x) = 37" at

x = 1. (Write the final answer using sigma notation).
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Question 5: et the parametric equations:
x=3t, y=9t? , t=0.

% a) Find a Cartesian equation.
2 b) Graph the Cartesian equation and show the direction of

motion
- c) What are the initial and terminal points
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